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IBPS Target Batch Schedule

** Monday- Basic topic ( 10min Quiz )

X Tuesday- Basic topic ( 10min Quiz )
X Wednesday- Basic topic ( 10min Quiz )
** Thursday- DI special ( Prelims Level )

** Friday- Top Trending Questions ( Word
Problems) - Same or Miscellaneous

X Saturday- Mains Magic ( Mains level) =



Fresh fruit contains 68% water and Dry fruit contains 20% water. How

many kg of dry fruit can be made from 200 kg fresh fruit? .

drsl Bl H 68% Ul &l § 3R @& %l # 20% U &1 &1 400 fohell drel Bl & e
fehell 15 e I ST Hehdl &7

A.200kg
B.160kg
C.120kg
D.240kg
E.NOT




S bought a watermelon weighing 2.8 kg. The ratio of water to pulp in it was 13 ¢ 1. He
had a dog at home which threw the watermelon off the table. Some of its water splashed

out of it. The new concentration of water to pulp is 15 ¢ 2. What is the weight of this

crushed watermelon?

S 2.8 ThaIT ISl T Teh TSl WRIGI 3HA UMAT 3R G &1 Ul 13:1 AT| 3Hb o A
Ueh ol AT TS dG Dl edcd F AT b &7 3HA 8 S Ul Soleh UST| oIIdT A
Ul Y A Flegdr 15 : 2 &l 50 0 T AR Pl dofa fopdaTr g2

A.3 kg
B.2.5 kg
C.1.7 kg
D.2.75 kg
E.NOT




A school has 4 sections of class 10, such that half the number of students of 1st section, ]
1/3rd of 2nd section, 1/4th of 3rd section and 1/5th of the 4th section are equal. If total @\
number of students in class 10 is 420, find the number of students in sections 1st and 2nd?

Ueh Thel A HETT 10 & 4 WS &, oI b Ugel WS & OTE Pl 3TN H&IT, @Y TS & 1/3,
X @3 & 174 3R WY WS & 1/5 d AW & BTEI B FEIT WK w| TG H&T 10 FH STAI
T Pol TEAT 420 &, dl AN 1 3R 2 H OE H F&I1 A0 Hifaa?




Rs 600 are divided among A, B and C so that Rs 40 more than 2/5 of A’s share, Rs 20
more than 2/7 of B’s share and Rs 10 more than 9/17 of C’s share are all equal. A’s share

is ?

600 TUY & A, B3 ch dTg 39 UspR ANTSd fhar Srar & f6 A e & 2/5 @ 40
U 37Tk, Bh To&d o 2/7 T 20 3T 31U 30T Ch BEA &b 9/17 T 10 3U 31TAp g
T &1 AhT EAT =T &7

A.Rs 180
B.Rs 160
C. Rs 150
D. Rs 140
E. NOT




If the price of Diamond is proportional to the cube of its weight. A man breaks this
Diamond in the ratio of 1:2:3 and he losses by 540000rs then find the actual price of

Diamond?

e T Y HIAT 38D Tolcd & el b HACIUA! &) Teh HGH 3H TR Pl 1:2:3 & Hgurd H
dizdr & 3 38 540000 ¥UA ¥ JHAE idl &, dl ER B arEdfded Hed A0 HIiSA?

| > A.108000
~ B.648000
C.249000
D.540000
E.NOT




Ratio of Land : water on earth is 2:3 and ratio of land : water in northern
hemisphere is 1:3. Find the ratio of Land : Water in southern hemisphere?

q:%?ﬁ'waﬁ:
Cwlie -

STel T 37Ul 2:3 © 3IR 3ad Mellg H HH : STel &1 urd 1:3 & giaTon

el & AFUId AT P ?

A.3:11
B.4:11
C.11:9
D.12:7
E.NOT



How many job applicants had applied if the ratio of selected to unselected was
19:17. 1If 1200 less had applied and 800 less selected, then the ratio of selected to

unselected would have been 1:1 ?

foraar AlAd 3mdeenl & 3mdea frar o afe gafaa 3R 3maf@aa &1 3regura 19: 17 ar? Ife

1200 &H 3Tded fhar a1 gidr 3R 800 &dA IIfAd &id, dl IIfad HAIfAT P HJUTd
1:1 BT

A.6000
B.7200
C.38400
D.4800
E.NOT




If an examination, the number of those who passed and the number of those who failed @\
were in the ratio 4:1. If 35 less had appeared and the number of failures were 9 more tha

earlier, the ratio of students who passed to the number of students who failed would have
been 2:1. Find the total number who appeared at the examination?

g @IS udeT ol g8 § 3T Aol el arcll T HEAT T HeUT 4:1 B
3URRYT gU U AR B3 &l HEIT Ugel I Joledl H 9 31Uh AT, dT 3401 g drel DAl
ﬁ?yﬁﬁﬁmﬁmzﬁraam T AUl 2: 1 BIAT| G H 3URRYT &l drel ol
JEIAT AT P ?

A.135
B.155
C.165
D.205
E.NOT




